
Cross out the wrong word and write down the sentence correctly. 

EXAMPLE

Active Passive – with mistake(s)  Passive – correct Type of mistake

She gave Mills a book. Mills was given a book by she. Mills was given a book by her. pronoun

NOW YOU

Active Passive – with mistake(s)  Passive – correct Type of mistake

1 John never catches fish. Fish are never catched by John. ….....................................................................

2 The Queen has opened three 
universities recently.

Three universities were opened by the 
Queen recently. ….....................................................................

3 Jill does not watch horror film. Horror films is not watched by Jill. ….....................................................................

4 The Myers' bikes are broken. 
They must repair them.

The bikes must be repaired by they. ….....................................................................

5 The parents had sat together 
with their children. They had 
helped them with their 
homework.

Them had been helped. ….....................................................................

6 In return, the children showed 
them how they install an app.

They were shown how an app to be 
installed.

….....................................................................

7 The bookshop owner has 
opened a café and a 
playground.

A café and a playground has been 
opened.

….....................................................................

….....................................................................

8 The company is building five 
new classrooms.

Five new classrooms are built. ….....................................................................

9 The teachers put the books on 
the shelves. This is what they 
always do.

The books were put on the shelves. ….....................................................................
….....................................................................
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Find the mistakes


